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998dm= in m und dm 99m8dm
824cm= in dm und cm 82dm4cm
635mm= in cm und mm 63cm5mm
5990dm= in m und in cm 599m=59900cm
7370cm= in dm und in mm 737dm=73700mm
20mm+16cm= berechnen 20mm+160mm=180mm
44cm+18dm= berechnen 44cm+180cm=224cm
19dm+15m= berechnen 19dm+150dm=169dm
29dm+7km= berechnen 29dm+70000dm=70029dm
54m+12km= berechnen 54m+12000m=12054m
17cm-42mm= berechnen 170mm-42mm=128mm
3dm-20cm= berechnen 30cm-20cm=10cm
5m-9dm= berechnen 50dm-9dm=41dm
13km-569m= berechnen 13000m-569m=12431m
7006dm= in m und dm 700m6dm
419cm= in dm und cm 41dm9cm
3102mm= in cm und mm 310cm2mm
9330dm= in m und in cm 933m=93300cm
9730cm= in dm und in mm 973dm=97300mm
11mm+20cm= berechnen 11mm+200mm=211mm
12cm+12dm= berechnen 12cm+120cm=132cm
12dm+7m= berechnen 12dm+70dm=82dm
20dm+9km= berechnen 20dm+90000dm=90020dm
58m+17km= berechnen 58m+17000m=17058m
12cm-29mm= berechnen 120mm-29mm=91mm
13dm-28cm= berechnen 130cm-28cm=102cm
19m-8dm= berechnen 190dm-8dm=182dm
16km-336m= berechnen 16000m-336m=15664m
9718mm= in cm und mm 971cm8mm
5460dm= in m und in cm 546m=54600cm
4840cm= in dm und in mm 484dm=48400mm
30mm+13cm= berechnen 30mm+130mm=160mm
45cm+5dm= berechnen 45cm+50cm=95cm
43dm+10m= berechnen 43dm+100dm=143dm
36dm+15km= berechnen 36dm+150000dm=150036dm
41m+5km= berechnen 41m+5000m=5041m
10cm-13mm= berechnen 100mm-13mm=87mm
20dm-40cm= berechnen 200cm-40cm=160cm
7m-19dm= berechnen 70dm-19dm=51dm
7km-881m= berechnen 7000m-881m=6119m
8650dm= in m und in cm 865m=86500cm
392km:140= berechnen 392000m:140=2800m
1890m:70= berechnen 18900dm:70=270dm
448m:1600= berechnen 44800cm:1600=28cm
40m:100= berechnen 40000mm:100=400mm
451dm= in m und dm 45m1dm
4775cm= in dm und cm 477dm5cm
3599mm= in cm und mm 359cm9mm
9120dm= in m und in cm 912m=91200cm
2670cm= in dm und in mm 267dm=26700mm
15m-50dm= berechnen 150dm-50dm=100dm
3193cm= in dm und cm 319dm3cm
14m-33dm= berechnen 140dm-33dm=107dm
9km-1643m= berechnen 9000m-1643m=7357m
8km:80= berechnen 8000m:80=100m
420km:140= berechnen 420000m:140=3000m
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1912dm= in m und dm 191m2dm
5597cm= in dm und cm 559dm7cm
4661mm= in cm und mm 466cm1mm
7350dm= in m und in cm 735m=73500cm
6520cm= in dm und in mm 652dm=65200mm
15mm+8cm= berechnen 15mm+80mm=95mm
52cm+7dm= berechnen 52cm+70cm=122cm
12dm+3m= berechnen 12dm+30dm=42dm
11dm+8km= berechnen 11dm+80000dm=80011dm
54m+12km= berechnen 54m+12000m=12054m
4cm-33mm= berechnen 40mm-33mm=7mm
14dm-46cm= berechnen 140cm-46cm=94cm
11m-37dm= berechnen 110dm-37dm=73dm
8km-1343m= berechnen 8000m-1343m=6657m
5785dm= in m und dm 578m5dm
5956cm= in dm und cm 595dm6cm
2294mm= in cm und mm 229cm4mm
4240dm= in m und in cm 424m=42400cm
1250cm= in dm und in mm 125dm=12500mm
47mm+16cm= berechnen 47mm+160mm=207mm
38cm+4dm= berechnen 38cm+40cm=78cm
59dm+20m= berechnen 59dm+200dm=259dm
57dm+19km= berechnen 57dm+190000dm=190057dm
50m+7km= berechnen 50m+7000m=7050m
18cm-41mm= berechnen 180mm-41mm=139mm
17dm-9cm= berechnen 170cm-9cm=161cm
17m-14dm= berechnen 170dm-14dm=156dm
10km-965m= berechnen 10000m-965m=9035m
1066mm= in cm und mm 106cm6mm
6380dm= in m und in cm 638m=63800cm
9910cm= in dm und in mm 991dm=99100mm
48mm+18cm= berechnen 48mm+180mm=228mm
53cm+13dm= berechnen 53cm+130cm=183cm
28dm+10m= berechnen 28dm+100dm=128dm
49dm+9km= berechnen 49dm+90000dm=90049dm
30m+4km= berechnen 30m+4000m=4030m
17cm-11mm= berechnen 170mm-11mm=159mm
9dm-55cm= berechnen 90cm-55cm=35cm
12m-55dm= berechnen 120dm-55dm=65dm
16km-2007m= berechnen 16000m-2007m=13993m
1570dm= in m und in cm 157m=15700cm
36km:120= berechnen 36000m:120=300m
2970m:110= berechnen 29700dm:110=270dm
437m:1900= berechnen 43700cm:1900=23cm
132m:110= berechnen 132000mm:110=1200mm
8429dm= in m und dm 842m9dm
1783cm= in dm und cm 178dm3cm
742mm= in cm und mm 74cm2mm
8950dm= in m und in cm 895m=89500cm
8200cm= in dm und in mm 820dm=82000mm
4m-56dm= berechnen 40dm-56dm=-16dm
9242cm= in dm und cm 924dm2cm
20m-57dm= berechnen 200dm-57dm=143dm
13km-606m= berechnen 13000m-606m=12394m
90km:50= berechnen 90000m:50=1800m
320km:160= berechnen 320000m:160=2000m


